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$First Elimination
A=[(1,1,-2,1,3,-1; 2,-1,1,2,1,-3; 1,3,-3,-1,2,1; 5,2,-1,-1,2,1; -3,-1,2,3,1,3; 4,3,1,-6,¢
-3,-2]
$X=[T1;T2;T3;T4;T5;T0]
B=[4; 20; -15; -3; 1lo; -27]
P1=A(2,1)/A(1,1)
P2=A(3,1)/A(1,1)
P3=A(4,1)/A(1,1)
P4=A(5,1)/A(1,1)
P5=A(6,1)/A(1,1)
Paull=[A(1,1) A(1,2) A(1,3) A(1l,4) A(1,5) A(l,6);
A(2,1)-(P1*A(1,1)) A(2,2)-(P1*A(1,2)) A(2,3)-(P1*A(1,3)) A(2,4)-(P1*A(1,4)) A(2,5)¢/
-(P1*A(1,5)) A(2,6)-(P1L*A(1,06));
A(3,1)-(P2*A(1,1)) A(3,2)-(P2*A(1,2)) A(3,3)-(P2*A(1,3)) A(3,4)-(P2*A(1,4)) A(3,5)¢/
-(P2*A(1,5)) A(3,6)-(P2*A(1,06));
A(4,1)-(P3*A(1,1)) A(4,2)-(P3*A(1,2)) A(4,3)-(P3*A(1,3)) A(4,4)-(P3*A(1l,4)) A(4,5)¢
-(P3*A(1,5)) A(4,6)-(P3*A(1,06));
A(5,1)-(P4*A(1,1)) A(5,2)-(P4*A(1,2)) A(5,3)-(PA*A(1,3)) A(5,4)-(P4*A(1l,4)) A(5,5)¢
-(P4*A(1,5)) A(5,6)-(P4*A(1,06));
A(6,1)-(P5*A(1,1)) A(6,2)-(P5*A(1,2)) A(6,3)—-(P5*A(1,3)) A(6,4)-(P5*A(1,4)) A(6,5)K/
-(P5*A(1,5)) A(6,6)-(P5*A(1,6))]
B1=[B(1,1);
B(2,1)-(P1*B(1,1));
B(3,1)-(P2*B(1,1));
B(4,1)-(P3*B(1,1));
B(5,1)-(P4*B(1,1));
B(6,1)-(P5*B(1,1))]
%$Second Elimination
Hl=Paull (3,2)/Paull (2,2)
H2=Paull (4,2) /Paull (2,2)
H3=Paull (5,2) /Paull (2,2)
H4=Paull (6,2) /Paull (2,2)
Paul2=[Paull(l,1) Paull(l,2) Paull(l,3) Paull(l,4) Paull(l,5) Paull(l,6);
Paull (2,1) Paull(2,2) Paull(2,3) Paull(2,4) Paull(2,5) Paull(2,6);
Paull(3,1) Paull(3,2)-(Hl*Paull(2,2)) Paull(3,3)- (Hl*Paull(2,3)) Paull(3,4)-¢
(H1*Paull (2,4)) Paull(3,5)-(H1*Paull(2,5)) Paull(3,6)-(Hl1*Paull(2,6));
Paull(4,1) Paull(4,2)-(H2*Paull(2,2)) Paull(4,3)-(H2*Paull(2,3)) Paull(4,4)—-z
(H2*Paull (2,4)) Paull(4,5)-(H2*Paull(2,5)) Paull(4,6)-(H2*Paull (2,6));
Paull (5,1) Paull(5,2)-(H3*Paull(2,2)) Paull (5,3)- (H3*Paull (2,3)) Paull(5,4)-¢
(H3*Paull (2,4)) Paull(5,5)-(H3*Paull(2,5)) Paull(5,6)-(H3*Paull(2,6));
Paull(6,1) Paull(6,2)-(H4*Paull(2,2)) Paull(6,3)-(H4*Paull(2,3)) Paull(6,4)—-{

(H4*Paull (2,4))
B2=[B1(1,1);

Paull (6,5) - (H4*Paull (2,5)) Paull (6,6)-(H4*Paull(2,6))]

Iz

(H1*B1(2,1));
(H2*B1(2,1));
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B1(5,1)-(H3*B1(2,1));
B1(6,1)-(H4*B1(2,1))]

%$Third Elimination

I1=Paul2(4,3)/Paul2(3,3)
I2=Paul2(5,3)/Paul2(3,3)
I3=Paul2(6,3)/Paul2(3,3)

Paul3=[Paul?2 ( Paul2(1,2) Paul2(1l,3) Paul2(l,4) Paul2(l,5) Paul2(l,0);
Paul2(2,1) Paul2(2,2) Paul2(2,3) Paul2(2,4) Paul2(2,5) Paul2(2,06);
Paul?2 ( Paul2 (3,2) Paul2(3,3) Paul2(3,4) Paul2(3,5) Paul2(3,06);
Paul2(4,1) Paul2(4,2) Paul2(4,3)-(I1*Paul2(3,3)) Paul2( 4) - (I1*Paul2(3,4)) Paul2¥

(4,5)-(I1*Paul2(3,5)) Paul2(4,6)—(I1*Pau12(3,6));

Paul2(5,1) Paul2(5,2) Paul2(5,3)-(I2*Paul2(3,3)) Paul2(5,4)-(I2*Paul2(3,4)) Paul2 ¢
(5,5)-(I2*Paul2(3,5)) Paul2(5,6)-(I2*Paul2(3,6));

Paul2(6,1) Paul2(6,2) Paul2(6,3)-(I3*Paul2(3,3)) Paul2(6,4)-(I3*Paul2(3,4)) Paul2v

(6,5) - (I3*Paul2(3,5)) Paul2(6,6)-(I3*Paul2(3,6))]
B3=[B2(1,1);

B2(2,1);

B2(3,1);

B2 (4,1)-(I1*B2(3,1));

B2 (5,1)-(I2*B2(3,1));

B2(6,1)-(I3*B2(3,1))]

%$Forth Elimination
Ll1=Paul3(5,4)/Paul3 (4, 4)
L2=Paul3(6,4)/Paul3 (4, 4)

Pauld= [Paul3( 1) Paul3(l,2) Paul3(l,3) Paul3(1l,4) Paul3(1,5) Paul3(1l,06);
Paul3(2,1) Paul3(2,2) Paul3(2,3) Paul3(2,4) Paul3(2,5) Paul3(2,06);
Paul3(3,1) Paul3(3,2) Paul3(3,3) Paul3(3,4) Paul3(3,5) Paul3(3,06);
Paul3(4,1) Paul3(4,2) Paul3(4,3) Paul3(4,4) Paul3(4,5) Paul3(4,06);
Paul3(5,1) Paul3(5,2) Paul3(5,3) Paul3(5,4)-(L1*Paul3(4,4)) Paul3(5,5)—(L1*Paul3¢/
(4,5)) Paul3(5,6)-(L1*Paul3(4,6));
Paul3(6,1) Paul3(6,2) Paul3(6,3) Paul3(6,4)-(L2*Paul3(4,4)) Paul3(6,5)-(L2*Paul3v
(4,5)) Paul3(6,6)-(L2*Paul3(4,6))]
B4=[B3(1,1);
B3(2,1);
B3(3,1);
B3(4,1);
B3(5,1)-(L1*B3(4,1));
B3(6,1)-(L2*B3(4,1))]

$Fifth Elimination
Ol=Pauld (6,5) /Pauld (5,5)

Paulb= [Paul4(1 1) Paul4d(1l,2) Pauld(1l,3) Pauld(l,4) Pauld(l,5) Pauld(l,6);

Paul4d (2,1) Paul4d(2,2) Paul4d(2,3) Pauld(2,4) Paul4d(2,5) Pauld(2,6);

Paul4d (3,1) Paul4(3,2) Paul4d(3,3) Paul4d(3,4) Paul4d(3,5) Pauld(3,6);

Paul4d (4,1) Paul4d(4,2) Paul4d (4,3) Paul4d (4,4) Paul4d(4,5) Pauld (4,6);

Paul4d (5,1) Paul4(5,2) Paul4d(5,3) Paul4d(5,4) Paul4d(5,5) Pauld (5,6);

Paul4 (6,1) Paul4 (6,2) Paul4d(6,3) Pauld(6,4) Pauld(6,5)-(01l*Paul4(5,5)) Paul4d (6,6)-¢
(01*Pauld (5,6))]

B5=[B4(1,1);
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B4(2,1);
B4(3,1);
B4(4,1);
B4(5,1);
B4(6,1)-(01*B4(5,1))]
%Substitution
T6 = B5 1) /Paulb5 (6, 6)
TS5 = (B5(5 1) - (Paul5(5,6)*T6) ) /Paulb (5, 5)
T4 = (B5(4,1)-(Paul5(4,6)*T6)-(Paulb(4,5)*T5)) /Paulb(4,4)
T3 = (B5(3,1)-(Paul5(3,6)*T6) - (Paul5(3,5)*T5) - (Paul5(3,4)*T4))/Paul5(3,3)
T2 = (B5(2,1)-(Paul5(2,6)*T6)-(Paul5(2,5)*T5)-(Paul5(2,4)*T4) - (Paul5(2,3)*T3))/Paul5(2,2)
Tl = (B5(1,1)-(Paul5(1,6)*T6)-(Paul5(1,5)*T5)-(Paul5(1,4)*T4) (Paul5(1,3)*T3)—(Pau15(l,2)K’
*T2)) /Paul5(1,1)



